1/c do/d(1-T)

Ratio to ALEPH

=
o
N

10

1071

1072

0.5

206 GeV ee vy*/Z (Hadronic)
T Tt LI B Y L B B B R B
- m. _|
— i\ —
= L} E
- W N
o . |
_ R _
= Tm =
[ '\"\'if.?; [ _
= . 3
— m ALEPH t;l -
: f3-- Herwig 7.2.1 default _
— ¢ Sherpa 2.2.9 default —
N | | | | | | | | | | | | | L A [ L]
:l T T T T | T T T T | T T T T | T T T T |:
I i .

m’ >.?A? ’::',_,, SN j
g
u = i
N s i
| Ko |
| 1 1 1 1 " | " 1 1 1 1 " | 1 1 1 1 " | " 1 " 1 1 1 |
0 0.1 0.2 0.3 0.4

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


